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3.3,4.1-4.3,5.6 practice

Write an equation of the line that passes through the given point and has the given slope.
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3) The cost for 7 dance lessons is $82. The cost for 11 lessons is $122. Write a linear equation to find the total cost C for £

lessons. Then use the equation to find the cost of 4 lessons. < (x-7
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Graph each equation.
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9) Write an equation in point-slope form for a horizontal line that passes through (4, -2).
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Write each equation in standard -
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Find the value of r so the line that passes through each pair of points has the given slope.
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Find the slope of the line that passes through each pair of points.
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For 15-18, match the inequality to the graph.

15) y—2x<2@ 16) y5—3va') 17) 2y—.\72€-/;“:] 18) x+y>(@

¥ CZx+L
zﬂ. 7 }f. E: ﬂf o -
S 1 N 1 R A NN B '\ 0 LA S R ] SR B
15! TR e T
is _ BN S N Smmi . mmr
b 70 T o . 5 =
N —e —t s b lafnd 1 [
I /O I‘I!_.F | ' i Il “\‘\ l
EEEEE e 2] ] FHATS ‘ 18
19) Graph -2y —x>-3 R FW
rAoxA | by
\"\\& ‘?#._.
>x -5 TR My
’%‘—q ’—i "'-2 I ‘\\ \\\ \ \
ks i %A"\ : ; }
\1 {-l-,(.g.l ! . U0 -
z 1

20) Determine which ordered pairs are part of the solution set for the inequality.
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